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Paper-VI
i=k&VI

GENERAL SCIENCE, ENVIRONMENT TECHNOLOGY DEVELOPMENT

lkekU; foKku] i;kZoj.k ,oa rduhdh fodkl
Instructions :

	 (i)	 Candidates are required to answer all question.
	 (ii)	 Question No. 1 (One) is compulsory and is of objective type.
	 (iii)	 Question No. 1 (one) has 20 (Twenty) Question carrying 2 (Two) marks each.
	 (iv)	 Question No. 1 to 6 are of descriptive nature & answer should not exceed 500-600 words.
	 (v)	 Question No. 2 and 6 are of equal value carrying 32 (Thirty two) marks each.

funsZ'k %
	 (i)	 vH;FkhZ ls lHkh iz'uksa ds mÙkj visf{kr gSaA
	 (ii)	 iz'u la[;k 1 (,d) vfuok;Z gS ,oa oLrqfu"B izdkj dk gSA
	 (iii)	 iz'u la[;k 1 (,d) eas 20 (chl) iz'u gSaA izR;sd iz'u 2 (nks) vad dk gSA
	 (iv)	 iz'u la[;k 2 ls 6 fooj.kkRed gSa ftuds mÙkj 500&600 'kCnksa ls vfèkd u gksA
	 (v)	 iz'u la[;k 2 ls 6 ds lHkh iz'uksa ds eku cjkcj gSa rFkk izR;sd iz'u 32 (cÙkhl) vad dk gSA

	 1.	 vfupk;Z iz'u% (Compulsory Question)� (20 × 2 = 40)

	 (1)	 _______ ds }kjk ok;qeaMy dks i`Foh ij /kj.k fd;k tkrk gSA
	 (a)	 gok	 (b)	 xqq#Rokd"kZ.k

	 (c)	 ckny	 (d)	 i`Foh dk pqacdh; {ks=k

		  The Atmosphere is held to the Earth by_______.
	 (a)	 Wind	 (b)	 Gravity
	 (c)	 Clouds	 (d)	 Earth’s Magnetic field

	 (2)	 ,d est ij ,d iRFkj fojkekoLFkk esa fuEu esa ls D;k j[krk gS\
	 (a)	 xfrt ÅtkZ	 (b)	 xq#Rokd"kZ.k ÅtkZ

	 (c)	 fLFkfrt ÅtkZ	 (d)	 buesa ls dksbZ ugha

		  A stone resting on the table has
	 (a)	 Kinetic Energy	 (b)	 Gravitational Energy
	 (c)	 Potential Energy	 (d)	 None of these

	 (3)	 fuEu esa ls dkSu lk ÅtkZ dk ije ([kkl) Ïksr gS\
	 (a)	 thok'ke b±/u 	 (c)	ikuh

	 (c)	 ;wjsfu;e	 (d)	 lw;Z

		  Which of the given is the ultimate source of energy?
	 (a)	 Fossil fuel	 (b)	 Water
	 (c)	 Uranium	 (d)	 Sun

	 (4)	 fuEufyf[kr esa ;wfj;k dk lehdj.k crkb;sA
	 (a)	 HN-CO2-NH	 (b)	 KCNO

	 (c)	 H3N-CO-NH3	 (d)	H2N-CO-NH2

		  Formula of urea is-
	 (a)	 HN-CO2-NH	 (b)	 KCNO
	 (c)	 H3N-CO-NH3	 (d)	 H2N-CO-NH2 
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	 (5)	 xksYxh ckWMh lgk;rk djrh gS%
	 (a)	 LVsjkW;M ds mRltZu esa	 (b)	inkFkks± ds laxzg ,oa L=kko.k esa

	 (c)	 VªkUlys'ku esa	 (d)	 VªkUlfØI'ku esa

		  Golgi Body helps in:
	 (a)	 Excretion of Steroids	 (b)	 Storage and Secretion of Substances
	 (c)	 Translation	 (d)	 Transcription 

	 (6)	 LVsuys feyj ds iz;ksx esa cps gq, inkFkZ Fks%
	 (a)	 ,ehuks ,flM~l	 (b)	 U;wfDyvksVkbM~l

	 (c)	 ,lhfVd ,flM~l	 (d)	vkDtSyks ,lhfVd ,flM~l

		  In the experiment of Stanley Miller the left out products were :
	 (a)	 Amino acids	 (b)	 Nucleotides
	 (c)	 Acetic acids	 (d)	 Oxalo acetic acids

	 (7)	 esaMy dks firk dgk tkrk gS%
	 (a)	 VSDlksukseh dk	 (b)	 tsusfVDl dk

	 (c)	 iSfyvksckVuh dk	 (d)	buesa ls dksbZ ugha

		  Mendel is called the father of:
	 (a)	 Taxonomy	 (b)	 Genetics
	 (c)	 Palaeobotany	 (d)	 None of the above

	 (8)	 FkkbjkfDlu gkeksZu Ïkfor gksrk gS%
	 (a)	 FkkbjkbM xzafFk }kjk	 (c)	Fkkbel xzafFk }kjk

	 (c)	 gkbiksFkSykel }kjk	 (d)	ih;w"k xzafFk }kjk

		  Thyroxin is secreted by :
	 (a)	 Thyroid gland	 (b)	 Thymus gland
	 (c)	 Hypothalamus	 (d)	 Pituitary gland

	 (9)	 og {ks=k tgk¡ 500&1000 feyhehVj okf"kZd o"kkZikr gksrk gS] dgykrk gS%
	 (a)	 ue	 (b)	 'kq"d

	 (c)	 v/Z&'kq"d	 (d)	 'khrks".k

		  Region receiving 500-1000 mm annual rainfall is called
	 (a)	 Humid	 (b)	 Arid
	 (c)	 Semi-arid	 (d)	 Temperate 

	(10)	 ,d o"kkZikr okys fnu esa de ls de fdruh o"kkZ gksuh pkfg,\
	 (a)	 1-5 feyhehVj	 (b)	 2-5 feyhehVj

	 (c)	 1-0 feyhehVj	 (d)	 2-0 feyhehVj

		  Minimum rainfall amount considered as rainy days is
	 (a)	 1.5 mm	 (b)	 2.5 mm
	 (c)	 1.0 mm	 (d)	 2.0 mm 

	(11)	 oSf'od rki o`f¼ esa fdl xSl dh vge Hkwfedk gS\
	 (a)	 dkcZu Mkb&vkWDlkbM		 (b) vkstksu

	 (c)	 ukbVªl vkWDlkbM		 (d) feFksu

		  The gas contributing major role in global warming
	 (a)	 Carbon dioxide	 (b)	 Ozone
	 (c)	 Nitrous oxide	 (d)	 Methane
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	(12)	 Hkkjr ekSle foHkkx }kjk tkjh eè; vof/ ekSle iwokZueku dh vof/ gS
	 (a)	 1 ls 2 fnu	 (b)	 2 ls 7 fnu

	 (c)	 10 ls 15 fnu	 (d)	 buesa ls dksbZ ugh

		  Medium range weather forecast issued by IMD is for
	 (a)	 1-2 days	 (b)	 2-7 days
	 (c)	 10-15 days	 (d)	 None of these

	(13)	 fuEufyf[kr xSlksa esa ls dkSu&lh ,d ok;qe.My dk izkÑfrd ?kVd ugha gS\
	 (a)	 DyksjksÝyqvksjksdkcZu	 (c)	vkxZu

	 (c)	 fØIVkWu	 (d)	 tyok"i

		  Which one of the following gases is not a natural element of the atmosphere ?
	 (a)	 Chlorofluorocarbon	 (b)	 Argon
	 (c)	 Krypton	 (d)	 Water Vapour

	(14)	 D;ksVks izksVksdksy dh izkFkfed dk;Zlwph D;k gS\
	 (a)	 ekuotfur xzhu gkml xSlksa ds Ïksrksa dks fu;af=kr djuk

	 (b)	 ukfHkdh; ÅtkZ ds mRiknu dks fu;af=kr djuk

	 (c)	 [krjukd vif'k"V dks fu;af=kr djuk

	 (d)	 buesa ls dksbZ ugha

		  What is the primary agenda of the Kyoto Protocol?
	 (a)	 Control anthropogenic sources of greenhouse gases.
	 (b)	 Regulate the production of nuclear energy.
	 (c)	 Regulation of hazardous wastes.
	 (d)	 None of the above

	(15)	 vf/drj v{k; ÅtkZ Ïksrksa dh buesa ls D;k gkfu gS\
	 (a)	 mPp ifjpkyu ykxr	 (b)	mPp vif'k"V fuiVku ykxr

	 (c)	 vfo'oluh; vkiwfrZ	 (d)	vR;f/d iznw"k.kdkjh

		  Which of the following is a disadvantage of most of the renewable energy sources ?
	 (a)	 High running cost	 (b)	 High waste disposal cost
	 (c)	 Unreliable supply	 (d)	 Highly polluting

	(16)	 fuEufyf[kr esa ls dkSu&lk yo.k ty dh LFkk;h dBksjrk dk eq[; dkj.k gS\
	 (a)	 eSXuhf'k;e ckbdkcksZusV	 (c)	eSXuhf'k;e lYisQV

	 (c)	 eSXuhf'k;e dkcksZusV	 (d)	buesa ls dksbZ ugha

		  Which of the following salts is the main cause of permanent hardness of water?
	 (a)	 Magnesium bicarbonate	 (b)	 Magnesium sulphate
	 (c)	 Magnesium carbonate	 (d)	 None of the above

	(17)	 fuEu esa ls dkSu&lk ck;ksVsDuksykWth ds liQy mi;ksx dk ,d mnkgj.k ugha gS\
	 (a)	 MkWyh HksM+	 (b)	 áweu xzksFk gkeksZu

	 (c)	 xzkiQhu 'khV	 (d)	 chVh dkWVu

		  Which of the following is not an example of successful applications of biotechnology ?
	 (a)	 Dolly Sheep	 (b)	 Human Growth Hormone
	 (c)	 Graphene Sheet	 (d)	 Bt Cotton

	(18)	 fdl foVkfeu dh deh NksVs cPpksa ds va/siu ls lEcfU/r gS\

	 (a)	 foVkfeu&K	 (b)	 foVkfeu&A

	 (c)	 foVkfeu&E	 (d)	 foVkfeu&D
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	 	 Deficiency of which vitamin is related to the blindness in young children?
	 (a)	 Vitamin K	 (b)	 Vitamin A
	 (c)	 Vitamin E	 (d)	 Vitamin D

	(19)	 ISRO }kjk 29 ekpZ] 2018 dks iz{ksfir HkwfLFkj mixzg GSAT-6A eq[;r% iz;ksx gksrk gS%

	 (a)	 lapkj esa	 (b)	 d`f"k ekufp=k.k esa

	 (c)	 fjeksV lsaflax esa	 (d)	fuxjkuh esa (vkos{k.k esa)

		  Geostationary satellite GSAT-6A launched by ISRO on 29th March, 2018 is mainly used for
	 (a)	 Communication	 (b)	 Agriculture mapping
	 (c)	 Remote sensing	 (d)	 Surveillance

	(20)	 dksjksuk ok;jl chekjh (COVID-19) uked oSf'od egkekjh dk izeq[k dkj.k gS%

	 (a)	 SARS-COV-1 ok;jl	 (b)	SARS-COV-2 ok;jl

	 (c)	 SARS-COV-3 ok;jl	 (d)	mijksDr lHkh

		  The main cause of pandemic named Corona Virus disease (COVID-19) is:
	 (a)	 SARS-COV-1 virus	 (b)	 SARS-COV-2 virus
	 (c)	 SARS-COV-3 virus	 (d)	 All of the above

	fdUgha nks iz'uksa dk mÙkj nsaA (Answer any two) :� (40 × 2 = 80)
SECATION-A

	 2.	bdkbZ ls vki D;k le>rs gSa\ bdkb;ksa dh MKS, CGS vkSj SI iz.kkyh dks ifjHkkf"kr djsaA ,d ekud bdkbZ dh 

fo'ks"krk,¡ D;k gSa\ S.I. iz.kkyh ds ykHk fyf[k,A 

	 	 What do you mean by Unit ? Define MKS, CGS and SI system of units. What are the characteristics of a 
Standard Unit ? Write the advantages of the SI system.� 32

OR/vFkok

		 lw;Z ds lkFk i`Foh dh lkis{k fLFkfr dh O;k[;k djus okys fu;eksa dks fyf[k, vkSj lle>kb,A xzg.k ls vki D;k 

le>rs gSa vkSj ;g dSls ?kfVr gksrk gS\ lw;Z xzg.k dk LoPN vkSj lkiQ fp=k cukb, vkSj bls lqjf{kr :i ls ns[kus 

ds ik¡p rjhds crkb,A 

		  State and explain the laws that explained the relative position of earth with sun. What do you understand 
by an eclipse and how does it take place? Draw neat and clean diagram of Solar eclipse and explain the 
five ways to view Solar eclipse safely.

	 3.	vko';d vehuks vEy D;k gSa\ os LokLF; ds j[kj[kko ds fy, D;ksa vko';d gS\ 

		  What are essential amino acids? Why are they necessary for the maintenance of health?� 32
OR/vFkok

		  foVkfeUl D;k gSa\ fdUgha rhu chekfj;ksa dk o.kZudjks tks foVkfeUl dh deh ls gksrh gSaA 

	 	 What are vitamins? Describe three diseases caused by Vitamin deficiency.

	 4.	>kj[kaM jkT; ds fdlkuksa }kjk vkerkSj ij viukbZ tkus okyh o"kkZ ty lap;u dh fofHkUu fof/;k¡ D;k gSa\ ;g Ñf"k 

mRiknu esa lq/kj ds fy, dSls iQk;nsean gS\

		  Critically examine the role of India in the Liberation Movement of Bangladesh. 
OR/vFkok

			 catj Hkwfe ij viuh vo/kj.kk nsaA blds lq/kj vkSj Ñf"k okfudh esa bld laHkkfor mi;ksx ds fy, vki D;k lq>k,axsA 

		  Give your concept on waste land. What measures you will suggest for its reclamation and its potential use 
in Agroforestry?
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	 5.	vEyh; o"kk± vkSj e#LFkyhdj.k ds D;k dkj.k vkSj ifj.kke gSa\

	 	 What are the causes and consequences of acid rains and desertification?
OR/vFkok

		  ou (laj{k.k) vf/fu;e] 1980 dh eq[; fo'ks"krk,¡ vkSj mlesa fd, x, la'kks/uksa dk o.kZu dhft,A

		  Describe the salient features of Forest (Conservation) Act, 1980 and the amendments made to it.

	 6.	 {k; ,oe~ v{k; ÅtkZ dk foHksn dhft,A fdUgha nks v{k; ÅtkZ L=kksrksa ls ÅtkZ tuu dh izfØ;k dks of.kZr dhft;sA

	 	 Differentiate between renewable and non-renewable energy. Explain the process of energy generation from 
any two renewable energy sources.

OR/vFkok

		  HIV D;k gS\ ;g dsls ekuo 'kjhj dks izHkkfor djrk gS\ HIV laØe.k ds dkj.k] izHkko o fu;a=k.k ds mik; 
fyf[k,A

	 	 What is HIV? How does it affect human body? write causes, effects and control methods of HIV infection.


